
qm=;+= ljj/0f nfut /sd ?=  s}lkmot

1 u}/ ahf/ eGbf klZrd a|xdafafsf] dlGb/ lgdf{0f 800,000.00         

2 u}/ xg'dfg rf}s b]lv d';x/L 6f]n ;Dd gfnf lgdf{0f 1,500,000.00        

3 u}/ xg'dfg rf}s b]lv k"j{ snsgLsf] 3/ ;Dd dd{t tyf u|]en 250,000.00          

4 u}/ df=lj= :s'n b]lv blIf0f lj/]Gb| emfsf] 3/ ;Dd dd{t tyf u|]en 100,000.00          

5 u{/ ljgf]b ;fxsf] 3/ eGbf blIf0f ;}s'lnof vft'gsf] 3/ ;Dd dd{t

tyf u|]en
200,000.00          

6 :jf:yo O{sfO{ ;+rfng l;/l;ofdf 200,000.00          

7 u}/ b]lv klZrd gGbnfn kl08tsf] 3/ b]lv klZrd /fh]z k6]nsf]

v]t ;Dd s'nf] lgdf{0f
300,000.00          

8 l;/l;of k|ltIffno rf}s b]lv klZrd /fdrGb| dxtf]sf] 3/ x'b}+

kf]v/L ;Dd gfnf tyf ;8s 9nfg
4,000,000.00       

9 x{08kfO{k h8fgsf] nflu 300,000.00          

10 ef]nfsf] 3/ b]lv /fdlj/sf] 3/ x'b}+ km]sg df:6/sf] 3/ ;Dd ;8s

dd{t tyf u|]en
350,000.00          

11 sljnf;L g=kf= jf8{ g+= & df rkL{ / x}08kfOksf] nflu 150,000.00          

hDdf 8,150,000.00       

sljnf;L gu/kflnsf jf8{ g+= & sf] of]hgfx?


